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QUESTION 1

In the event of failed CVM, what happens to the physically attached storage for the node and the VMs running on it? 

A. The drives for that node are inaccessible. The VMs reboot. 

B. The drives for that node are inaccessible. The VMs continue to run. 

C. The hypervisor regains control of the drives. VMs on that node reboot. 

D. The hypervisor regains control of the drives. VMs on that node continue to run. 

Correct Answer: C 

 

QUESTION 2

The Linux administrator team has requested access rights to any current or future Linux VM in the environment. 

What entity should be selected when assigning this new role? 

A. Image 

B. AHV Cluster 

C. Category 

D. Project 

Correct Answer: D 

 

QUESTION 3

An administrator increases the cluster RF to 3. The containers are not modified. 

What will the new values in the data resiliency dashboard be for FAILURES TOLERABLE for the Zookeeper and Extent
Groups components? 

A. Zookeeper = 1 and Extent Group = 1 

B. Zookeeper = 2 and Extent Group = 2 

C. Zookeeper = 2 and Extent Group = 1 

D. Zookeeper = 1 and Extent Group = 2 

Correct Answer: C 

Reference: https://next.nutanix.com/installation-configuration-23/about-data-resilience-question-26469 
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QUESTION 4

Which two access protocols are supported by Files? (Choose two.) 

A. iSCSI 

B. NFS 

C. SMB 

D. FCOE 

Correct Answer: BC 

Reference: https://www.nutanix.com/products/files 

 

QUESTION 5

An administrator has a 5-node cluster configured for RF2 with 200 TB of raw disk space. The administrator decides to
enable Erasure coding to gain additional usable space. 

Approximately how much usable space would be available after enabling Erasure coding? 

A. 100 TB 

B. 125 TB 

C. 150 TB 

D. 175 TB 

Correct Answer: C 
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